R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Non-Impact\Drawings\TX-4594.4595.dwg, TX-4595

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

FLUSH GLAZED FIBERGLASS DOORS

DOUBLES
w/ or w/out SIDELITES

INSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door described herein complies with the 2006 Infernational Residential
Code (IRC), Sections R301 & Ré13 and the 2006 International Building Code (IBC),
Sections 1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the
following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Sidelite panel details

Elevations

Vertical cross sections

Horizontal cross sections

Frame anchoring & hardware details

O[O~ A |WIN|—

Bill of materials and components

=— 74" MAX. OVERALL FRAME WIDTH ——

SemERANNE
S ullz
i,
S Tisi G
L B X
a1 100 QLwY
g HORED) P29
g i 2sP
504 (Ui wrxo
o 110 )
9w 1€ i 505
X 10 P>

O, 185
0ne e
Mk xiZi 2
T

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

98" OVERALL FRAME HEIGHT

=
O
w
a1
30}
i X X
32
R
> TN
:
&
148.5" MAX. OVERALL FRAME WIDTH
I—i 74" MAX. FRAME WIDTH 4—-I<— ng\fﬁ; C'A‘/fls);H =)
o
S (@) X X (@)
2
_ DESIGNPf;l;ESSURE
CONFIG. FRAME (FSE)
DIMENSION INSWING
POS. NEG.
XX 74.0"x 98.0" | +50.0 | -60.0
OXXO | 148.5"x 98.0" | +50.0 | -55.0

%
On (/anse
O &
/ﬁb&,
BUILDING CONSULTANTS, INC

P.O. Box 230 Valrico FL. 33595

Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

PRESSURES & GENERAL NOTES

=

o

%)

o L)

S Q

o o

eS| 2

(A% iq =

W0 >| <

23 |3l s

22 |2 o
Ly |»

& |42

ey

5 ol ©

=) ot
o =
2 |z
a o

>—

m

L

<€

()]

o

=

REVISIONS

oAtE: 1/13/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4595

SHEET 1

or 8




ul
0: M
NYLON SCREW (3" FROM ENDS & 16" O.C. " "o ANV, g
| \ | INTERIOR 278 -2 SN i .5“‘11; N R 2o
] Sl &0, FEX 8 s
5{;/\;..' ::IE: . N (})’ u G :‘)) G ,?
in ;'J ,\." (0 i Wl z BN E’ L.
= = ! «'5‘5""%"”" 2 855 3=
STILE % gwi S 28 z8a 88
(PVC) 0 1 (= (a-:(_." He¥: R 5, K g gg
1 - 3 H ek 1
/ EXTERIOR \ TOP RAL — [ , Q5 P9 2 oo b
PVC X > 2 5, GR. &0
DOOR SKIN STILE (PVC) ! Yyia | & ooy £f
STEEL REFORCEMENT REINFORCEMENT b ? z8, 5k
{0.125" X 1.5" X 84") (WOOD) . g 255 52
/ 1"\ HORIZONTAL CROSS SECTION — o §R0f gt
o0 =
\2/ REINFORCEMENT i 2 § oE
(WOOD) N1
3 [
1/2" GLASS BITE 3
35.75" MAX. PANEL 35.75" MAX. PANEL
WIDTH WIDTH \
{' D.L.O. WIDTH ‘l {“ D.L.O. WIDTH *] @\
it D:
q q | 1/8" TEMPERED GLASS [ O§ g
| R /
] I ¥~ ARSPACE EXTERIOR y g% 5 %E
| S~ 1/8" TEMPERED GLASS 1 23 8 S
L =z
ALUM SPACER Q§ 2 =
GLAIZING TAPE I
m B § «
\2_/ > @ GLAZING DETAIL S &
5 FLUSH GLAZED o o
Dy
= >
= 0 ! I >
O x .
£ 3 < !
o - 3 i
Z G S S
o = R
% ; | L .
fi = GLAZING BEAD o »1‘7» o z
S-S pPvC 2
w N~ =
SEE HARDWARE . /o %
TABLE ] S
{LATCH & DEADBOLT} ! [MULTI-POINT LOCK) || § ,,,,,,,,,,,,
' | /J || - FoAMCORE
e Ll
e ; =
e TINSWING TOUTSWING ‘ =
KNOB: SIGNATURE SERIES :
_1 % .50 ] BOTIOM RAIL o
KWIKSET DEADBOLT:  SERIES (660) +50/-60 +50/-8 75 T (PVC) =z
2 = oate: 1/13/16
scHiAGe | KNOB: Fo1 +50/-60 | +50/-50
DEADBOLT: B4ON * scale:  N.T.S.
PLASTPRO DOOR PANEL KNOB: NEW TRADITIONS 175" | DWG. BY: JK
40 FLUSH GLAZED YALE DEADBOLT: YH 82 +50/-55 +50/-50 CHK. BY: LFS
/"2 VERTICAL CROSS SECTION DRAVING T
) ENDURA | MULTI-POINT LOCK: +50/-55 | +50/-50 TX-4595
DOOR SKIN: FIBERGLASS (0.086" MIN. THK.) PRODUCTS | TRILENNIUM 3000 SERIES (3 PT.) \2/ -4
FOAM CORE: POLYURETHANE (1.9 PCF MIN.) o 7 o B

© 2016 R.W. BUILDING CONSULTANTS INGC.




/"1 "\ HORIZONTAL CROSS SECTION

NEY

35.75" MAX. PANEL
WIDTH
25" MAX,

D.LO.WIDTH |
q

1/2" GLASS BITE

—— 5/8" OVERALL GLASS THK.

L 1/8" TEMPERED GLASS

¥/

F~— AR SPACE
1/8" TEMPERED GLASS

ALUM SPACER
GLAZING TAPE

GLAZING DETAIL
FLUSH GLAZED

944595 dwg. 3

4

N

rv{* 0.8"
. GLAZING BEAD
PYC

~—10

95.25" MAX. PANEL HEIGHT
79" MAX. D.L.O. HEIGHT

PLASTPRO SIDELITE PANEL
FLUSH GLAZED

50

DOOR SKIN: FIBERGLASS {0.086" MIN. THK.}
FOAM CORE: POLYURETHANE (1.9 PCF MIN.)

NYLON SCREW (3" FROM ENDS & 16" O.C. . .
( 0 ) INTERIOR 2.75 1.2

R

% Jx = R —E
sTLE pve) L A

/ EXTERIOR
DOOR SKIN STILE
(0.125" X 1.5" X 84") (WOOD)

TOP RAIL — ||
(PVC) ?
RAL — | §
REINFORCEMENT
(WOOD)
EXTERIOR
g
/4
/i
A
S /FOAM CORE
| BOTIOM RAIL

1.07"

(PVC)

e 1.75" ——|

/" 2"\ VERTICAL CROSS SECTION

NEY

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
B813.659.9197

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

S n
S| 3
—
o --LEJ“J
=0 ELT’_.Q
o gl I,
35 |3 gL
w =
ax (gl 2
g |9 o
o g
T
3 o
o &
® <
Q. o
>
m
n
pd
o
v
>
W
&
a
<C
S
o
4

oatE: 1/13/16

ScALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4595

SsHEET 3 oF 8

© 2016 R.W. BUILDING CONSULTANTS ING.



TON] SLNVITNSNGOD SNIaTinNg "M'u 9102 O

ZS8LL~d # NOILVMLISIOEAN 40 3LvOI4ILH3D G JIvG TON
v
SU3IANIONI VNOISS340dd 40 Q¥vOo8 Svx3al SNOLLYAT T3 m ol m.vl O 8—
L6L6°6G9'CL8 ON 8uoyd 0 N f— i e D
S6SCE 114 OOUIDA 0SZ X08 ‘O'd \Su@v "A1GN3SSY H0 18vd ) P Wl
“ONI ‘SINVLINSNOD ONIGNG N NN v_A 4_
HO0Q SSY19434id - g B15|2 <
€ZLPOL# 3d SvxaL 0dd1LSYId HEIEINE bt
"I'd IPIWYDS "4 UOPUAT :Ag peJpdeid sjuswNsoqg 110NA0Hd 21912135 1% &
N~

FRVLLLLLAY

ELEVATION
OXXO

ELEVATION
XX

b BMP 65 ¥ES-X1\sBUIMBIG\IDRdW]-UON PaZe[D Ysnid - XXX - IGLNIAL - S\LNANYINYId dul ‘01dise|d\sIualD\Y




TONG SINVLINSNDOD 9NIaTing "'M's 9102

Zs8Ll—3 # NOLLVHISIOSY 30 3LVOIJILY3O SNOILO3S SNOISINGY :
SU33INIONI TVNOISS340dd 40 GHvOE SvX3L SSOMD TWILLMYIA Ad 3ivd [ON of Iy ol o 8_
L616'659°'CL8 "ON Buoyd - e 2
S66EE T4 OOMIDA 0SZ X08 ‘O°d g% "KIBW3SSY 90 1avd - i ~l.9|6
"ONI ‘SINVLINSNOO ONIGNG N ERER 5*
¥00Q SSY19434l4 AR
$ZLYOL# "3'd SvyxaL 0HdISYId wlZlslv|B L
"I'd IPIUYDS ‘4 UOpuk :Ag pedodaid sjuswINS0(g 119NAa0Yd W g Z 5 m z
& m
[~
A NN n g w m
Q O
o 2 O
a. | O

A

/5 \ VERTICAL CROSS SECTION

W ADA Sill

L

=
]
g ¢
= 0O

4
o
P
QO
e
A
I
&«
e
Z
= m 3
4 & @ :C..
3 : & L 5
= ot a
& 3 - *® I 8
=P E () 2
2 - s M.ﬂ
% : 3 H‘ m .n
b~ W /,///.,»A‘%“JA [Ty W
“ ,&v ] - >(E
€ {3 <r M)
S tu ﬁl. = , mv
S Q "
& o]
z =
&

ANISO

O
Z
=
<C
Lt
&
3
[EX]
/ @ SL0

EXTERIOR

D ) CONCRETE

(20)26)
S

EXTERIOR

Spacing foritems J & K @ head & sill: 6" from each end.
/“k

*“/
71"\ VERTICAL CROSS SECTION

INTERIOR

m VERTICAL CROSS SECTION

\5/ inswing sill

INTERIOR

1. NOTE:

5 ‘BMP 565 HESY-X L\sBuImeIg\IdeduW-UON Paze[D ysnid - XXX - IALNIAL - E\LNINVINYId du] ‘oidised\siualD\y



CON| SINVLINSNGOD ONIGTHNE MY 9102 @

258L1—3 # NOILVMLSIOZY 4O 3LvOI4IL¥30 SNOILO3S SNOISIAZY
SYIINIONT TYNO! i
0ISS3408d 40 Quvog SvX3L SSOM) WINOZINOH Ag 31vd [ON ©lslxlol o 8_
LBLE'6S9'CLE ON Buoyd - 1 &
S6GSS 14 OoUDA 05Z Xog d.&gg ATENESSY M0 Ldvd y m - . % &
"ONI 'SINVAINSNOD ONIQNG N g | 6_
4004 SSY1943gl4 - Elsle &
£ZIbOL# '3'd Svxal 04d1ISYId Glgl s ¢l2 G
3'd IPILIYDS "4 uopulkl :Ag peaupdeld sjusuunNsog 110000y d M & W w W .w

TELRRONT

and 5 more equally spaced along
sidelite jamb (7 total).

NOTE:
1. Spacing for item J: 6" from each end

r |

/— DRYWALL
[ EXT. SHEATHING

m HORIZONTAL CROSS SECTION

/" 2"\ HORIZONTAL CROSS SECTION

A\Y

o fa"4
o} Q
2 &
= M_
ih ¥ A\
Q) o ® w
5 <
: < \\@ S
O
Ll
(75
)
. % S
: et
A\ Y m
O . :
X
¥ :
2z @/ ) -
[NE)
il
— . SN }

Kty

/"1 "\ HORIZONTAL CROSS SECTION

l \@ INTERIOR
EXT. SHEATHING

DRYWALL ~\

"9 BMP 657 YES - X L\SDUIMBIG\I2edW]-UON Pazej ysni4 - XXX - ICLNIAL - E\LNINYNYId JUl ‘0ldise|d\sIust\



2 ui
2 (TYP) ——| = & STieiy, ¢ |eR
" ! e Bl e ~ oot L2 & 5 %)
4 (TP —— ) [T SEE HINGE asRAGAL | SeeisiedA R 1B g B3
L DETAL N AN E A N A £~
PoIjft ! ] - £i3 Y (Oi %2\ |8u o8B &+
- (TYP.) aus i Wi - > 1
} LLy a0 Pl 0 4 u G L
o~ Wiy 2« gl
== ‘:‘U} H o U3 = [ (2 }_U_) - ;('*
& 28 Gy oI~ S 88 2383 33
= = L. - }1 ‘(& : Q H o &, o ) 5‘ o © % E
— - R O f— 4y % “Z G O o0 WE
HEAD & JAMBS <3 o 2X BUCK . N et . Zgm &b
(TYP.) >Q L_ {5 :, i 3 e 5 SR £g
e . o 95z u°
- - g L Hed =0 5 MR
O — - o 5Q0¢ W
— X X 1 S 5 <k
HINGE DETAIL A £ wo
- (14 g
PN
& %
_ SILL (TYP.) — SE S ez
2% ik T oS | Bh
<< ] & 20
-2 o owm .. S
* (TYP.) £2 15| 2§
Additional anchor @ sill — — L] 5§ o <3
req'd for DP > 40 psf. I 1. l “E A 58
" g N <<<¢
v | - HINGE JAMB MULTI-POINT LOCK STRIKE PLATE DETAIL g S e B
3" (TYP.) S [ 2:! (TYP ) 6" é 'D_C
4" (TYP.) —— L-_ 4" (TYP.) —| ->‘ —~— 4 (P (qyp) -—| f<— & <
e ) lllll FLAt L I .
¥ _ ASTRAGAL STRIKE
o> / PLATE
HEAD & JAMBS
o]
(TYP.) ~ j \- o 2
— — - — o
%)
>
&z &
= | <C
— O — X X — O — ASTRAGAL BOLT DETAIL z Q
Strike Plate @ Head &=
N
© Ll
©__ s
L e (@]
O 0.
- — SILL (TYP.) (TYP)) —l| GE R i S
i é % N Le] z
=2 oatE: 1/13/16
: ~ f ScAE N.T.S.
| LT e JTipri | ) owe.ev UK
7 ; 3/8" @ BOLT HOLE o o LFS
* —— =—4"(TYP) ASTRAGAL BOLT DETAIL LATCH AND DEADBOLT STRIKE PLATE DETAILS ~ [PRAWING No:
FRAME ANCHORING Inswing Threshold TX~4595
SHEET _/ oF _8

R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Non-Impact\Drawings\TX-4594.4595.dwg, 7.

© 2016 R.W., BUILDING CONSULTANTS INC.



BILL OF MATERIALS et . [ " | .
4.56 ‘ | 4.56 { I
MEM# | DESCRIPTION MATERIAL _ . , ‘ — _ NNV, g L
A | 2XFRAMING (G >= 042 WOOD 1 - _/__/—/‘/*\/*““/ SortiSE oy a1 8, Ey
C__|1/4" MAX. SHIM SPACE : 3 S Y FSN RO F N B
D | 1/4 PFH CONCRETE SCREW (1-1/4" MIN. EMB) STEEL ! T o — i il iQin o[t 2y 8¢
F #10 X 2-1/2" PFH WOOD SCREW {1.15" MIN. EMB.) STEEL ! 2 44" ! 213" S ? ! 2. 44" ! S ga Q :;.l‘ § - c g g L; 5 gj
G 3/16" PFH CONCRETE SCREW (1-1/4" MIN. EMB.) STEEL ?8\'2_ iziQ c’j{-"g E‘»‘—’ 228 o9
] [#10X 2-1/2 PFH WOOD SCREW STEEL (7)) rour etk jaus (2000 Jake IO N
K |#10X3"PFH WOOD SCREW STEEL i RS\ s 58° g8
M #10 X 2" PH SMS STEEL * Pidane o™ K Q3 2 W :
1 | POLY FIBER JAMB COMP. % 5 §.% .0
2 | WOOD JAMB WOOD - $ Baf 3%
) DOOR SWEEP PVC * e e L }:J 2 2%
7 WEATHERSTRIP (ENDURA FORCE 5) FOAM . I | " ' g §§
8 | WEATHERSTRIP (Q-LON] FOAM 4.56 i ! 4.56 * a
9 #9 x 3/4" PFH WOOD SCREW STEEL 20 }/NSWING THRESHOLD 2 'Dhg“g'é? THRESHOLD 8
11 4" X 4" HINGE STEEL Endura (Z-Series) (5CS)
12 LATCH STRIKE PLATE STEEL , 91" L i 2.125"
13 | DEADBOLT STRIKE PLATE STEEL | : SIDELITE - SIDELITE & ”
20 |INSWING THRESHOLD ALUM/COMP o o R ADAPTER S | %o
21 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP / ,%,Q) gé
24 ADA THRESHOLD ALUM -‘; * %‘g é iR
26 INSWING THRESHOLD ALUM/WOOD /_/E/h 20 13w %
27 INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/WOOD , e ,\f/:// :t] ‘ég’ g 30
33 | ASTRAGAL [DLP OR ENDURA] ALUM ™ | 456 | g = g 8
T o i h) o]
50 S LITE PA - Endura (Z-Series) DLP {ISCS) % X
&
§ - ] .78" -] I’—____ ‘4.56" ‘
g j[ | e
1 ADA THRESHOLD ? 2
T o
( ) SWEEP %’
i
o:
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted fo maintain the min.
edge distance to mortar joints. - 1.75"
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo . .
maintain the min. edge distance to mortar joints, additional concrete anchors L [t ] 75" e
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. I w
3. Concrete anchor table: e
2 5/16" @ SLIDE BOLT . o
i : i g (2" THROW @ fg 5/ ](62 ?HE%DVE B@OLT z
ITW BUILDEX |  3/16" 1-1/4" - EACH END o~ ! oate: 1/13/16
TAPCON® | 174" 1-1/4 ) EACH END) SCALE: /N T/ S
ELCO o 1/4 1-1/4 N 4" BOLT RETAINER DWG. BY: JK
ULTRACON CONCEALED R
4, Concrete: 3,000 psi min. conforming fo ACI 301. STIFFENER h CHK. BY: LFS
DLP ASTRAGAL ENDURA ASTRAGAL ORAWING NO.:
WOOD SCREW INSTALLATION NOTES: @—~ 33 n _
1. Irvgi(l;;oigrz “rzif:iomum 5/8" edge q:’§fcmce, 1" end distance, & 1" o.c. spacing of (Latch & Deadbolt) ggmg;g ?nsljg:f\%?t?neq ((Il_\%ﬁr ng‘. %ac?(;jbom TX-4595
prevent the splitting of wood. SHEET 8 oF 8

RiClients\Plastpro, Inc PERMANENT\B - TDI\TDI - XXX - Flush Glazed Non-Impact\Drawings\TX-4594.4595.dwg, 8.

© 2016 R.W. BUILDING CONSULTANTS ING.



